ACCESSORIES

o

Accessories 76 pipe caps 89-91
Separators / Clamps 77 safety caps 91
roller track caps 92

78 -84
93-94
Metal holder 85 Se
Plastic & Struts 86 o7
87 - 88 el
99 - 107

75



PLASTIC

ACCESSORIES

Unit : mm

L-Type

Part No

Normal ESD Thickness H Configuration
AL-1  EAL-f 3 30 50

AL-2  EAL-2 4 30 60 i
AL-9 | EAL-9 4 30 T

AL-5B | EAL-5B 4 50 50

AL-6B _ EAL-6B 4 50 75

AL-8 | EAL-B 4 50 100 -

AL-TB EAL-7B 4 50 150 x ﬁ
A4 | EA 4 80 90

AL-5 | EAL-5 5 50 50

AL-6  EAL-6 5 50 75

AL-7 EAL-7 5 50 150

Part No - .
~—Nomal | ESD | Thickness Configuration
AT-1 | EAT-1 4 | 50 | 100 /
AT-2  EAT-2 4 | 100 | 60 /
AT-3 EAT-3 4 150 60
>
4/ /%

Part Mo

Normal ESD Thclaess _ Configuration

Part No
Normal ESD

Part Mo
Normal ESD
PC-01 | EPCO1 | , . _ _ .
PC-02 | EPC-02 | 25 |  135° _ - _ = _ =

Thickness




PLASTIC

ACCESSORIES

Unit : mm

SEPARATEUR

GAP-19 Plastic Joint GAP-34 | Plastic Joint

« Weight :0.014kg
- Q'ty/Box : 500pcs

« Weight :0.009kg
« Q'ty/Box : 750pcs

GAP-39 Plastic Joint GAP-54 Plastic Joint

+ Weight :0.047kg ' - Weight :0.025kg
= Q'ty/Box : 160pcs « Q'ty/Box : 150pcs

GAP-61 Plastic Joint
=

A

« Weight :0.015kg
« Q'ty/Box : 500pcs

COLLIER

GAP-23  Plastic Joint

Include Bolt & Nut

| g 229
] ‘Nw%:
M3x 20

» Weight :0.020kg
- Q'ty/Box : 1500pcs

« Weight :0.019g
« Q'ty/Box : 300pcs

» Weight :0.011kg
- Q'ty/Box : 600pcs

S3IIO0SS3IIIV




ALUMINIUM

ACCESSORIES

Unit : mm

ABS-620 Board Support

« Weight :0.020kg « ABS-600SA Standard Lengthy 4MT
« Q'ty/Box : 300pcs

«Application Example: Reference page 89

ABS-4320A Board Support

¢

&/

« Weight - 0.020kg = ABS-4320A: 1pcs, APC-01 : 1pcs
» Q'ty/Box : 250EA « M0540 : 1pes
ACH-6040A AL Component Holder
T

N
\ bl

40

40
‘f:—_-p fTacT
o p A ;[ S T e
> , . i =
\ %

.26

ACH=-6040A~-L ACH-G040A-R
- Weight :0.017kg « Weight :0033kg  + ACH-6040A-R: 1pcs, ACH-6040A-L : 1pcs
-Q'ty/Box : 400EA - Q'ty/Box: 150EA  « MOB12: 1pcs. SNA0B ¢ 1pcs

ACM-=500 AL Caster Mount
HEX.MBx35

3 -] :
Qj- \W 7 M3 PLAIN WASHER
]

5! -.: -.’. . ) L i ‘h.]‘--;r . . . . s E
R/ ‘;;‘i S B |“| N P >,
- v L : L : 0 1
’ -‘E\A\CASTEH PLATE ,_ =
b : Caster Application Model
« Weight :0.054kg P Caster Appica

+ Q'ty/Box : 100pcs



ALUMINIUM

ACCESSORIES

Unit : mm

Aluminum Connector Piece

f
®

/
>
7 ~ fa._.
[

+ Weight : 0.007kg - ACP-HB026A-R - 1pcs, ACP-HB026A-L : 1pcs R 9
- Qty/Box : BOOEA « MOB25 : 2pcs |_s2 | M6x25

Aluminum Connector Piece

» Weight :0.007kg = ACP-VE026A-R : 1pcs, ACP-VB026A-L - 1pcs
- Q'ty/Box : B00EA » M0620 : 1pcs, MOB10 = 1pcs

MEx 10

>
o
o
m
o
@
o
=
m
()

N
&



ALUMINIUM

ACCESSORIES

Unit : mm

ADR-05-SA Door Rail

._' 'T' 1 # Application Example:
(i | Simple door
| . i
H‘;,f" H |
* Weight : 0.166kg/m - Standard Length: 4MT s i |
» Q'ty/Bundle : 20ea SN A

ADT-500 Slot Adapter

2

- Weight : 0.004kg a7
= Q'ty/Box : 1000pcs P

= |
? - I
” i

ADT-50&K - Slot Adapter
..-16
®

CMOS20 ﬁf CMOS20 E’m

M5 %200/ & (M5 x 200/ |

= Weight :0.014kg + ADT=-5043A : 1pcs
+ Q'ty/Box : 600EA + CM0520 : 1pcs, SN405 - 1pcs

ANP-01-150 AL Name Plate

¥

« Weight : 0.075kg « Standard Length: 4MT :ANP-015A [
+ Q'ty/Box : 150pcs ——




ALUMINIUM

ACCESSORIES

Unit : mm

APC-01 Pipe Cover

18

/ 4 ] /
o
« Weight :0.050kg Standard Length: 3MT
« Q'ty/Bundle : 50ea
APC-03 Pipe Cover
o
o
uy
&
/ .
« Weight :0.151kg « Standard Length: 3MT L 1

« Q'ty/Bundle : 20ea

APH-633L, APH-633R Round Pipe Connect Joint

# Round Pipe (included Coated Pipe

+ Weight : 0.021ka/0.018kg « APH=-F33L ' | ? | i : , j ﬁ&a Stainliﬁ? I?get} oo
« Q'ty/Box : 200 . - O B aptor Joint between Roun
v s APH-633R «’_'_J}\.J / k4] Pipe and Standard Aluminum

Pipe(Profiled)

APH-3030A Round Pipe Connected Joint

y_
N\

« Weight :0.031kg + APH-3030A-R : 1pcs, APH-3030A-L : 1pcs
« O'ty/Box : 200EA » M0625 : 1pcs, PWOE : 1pcs

S3IIO0SS3IIIV



ALUMINIUM

ACCESSORIES

Unit : mm

ASG-05SA AL Sheet Guide

- Weight : 0.172ka/m

- Standard Length: 4MT
= Q'ty/Bundle : 30ea

[AsR-52 UL

+ Weight : 0.034kg

- ASR-52:1pcs, GB-02:1pcs
» O'ty/Box : 450pcs

« MEx30:1pcs, SN406:1pcs

AWM-2500A SA AL Wall Mount

+ Weight :0.408ka/m « Standard Length: 4MT

« Q'ty/Bundle : 10ea

B-013L, B-013R KRR

25

124

P (BA-013>
« B-013L: 1pcs, B-013R: 1pcs
« MOB20/NDB-55: 1set
« Weight : 0.043kg
« Q'ty/Box : 150set

« Weight :0.018kg
« Q'ty/Box : 300pcs

228




ALUMINIUM

ACCESSORIES

Unit : mm

B-017A-08 Panel Joint

& / " q |
7 |
v 1%

« Weight :0.030kg
« Q'ty/Box : 200pcs

NOB-55

B-017A-08 @ ’

B-044 Straight Connector Joint

+ Weight : 0.026kg « B-044: 2pcs C—-t-]dE i —
« Q'ty/Box : 200pcs - MOB20/NO6-55: 1set b ; .
- Weight : 0.058kg (58)
. Q'ty/Box : 100set
B-045 Corner Joint

i)
|
o ®
+ Weight : 0.048kg « B-045: 2pcs
* Q'ty/Box : 100pcs » M0B20/NO6-55: 2set ® L&)
» Weight :0.114kg . el d
« Q'ty/Box : 50set Tl e e

IN404/405/406/408  ikkaablald

- Weight :0.008kg
+ Q'ty/Box : 1000pcs

S3IIO0SS3IIIV



ALUMINIUM

ACCESSORIES

Unit : mm

LP2800 ELF Plate

- Weight : 0.0002kg
« O'ty/Box : 10000pcs

SNA403/404/405/406/408 Ilakiclia

- Weight :0.009kg
« Q'ty/Box - 1000pes

BA-206 Crossover Joint (Angle Adjustable)

ATZ2B295A

= B-206A: 1pcs, = MOB20/NO6-55: 2set  + Weight : 0.117kg

B-206B: 1pcs, M0625: 1pcs « Q'ty/Box : 60set
B-2086C: 1pcs,

B-208D: 1pcs

B-206B B-206C
= Weight : 0.020kg = Weight : 0.020kg = Weight : 0.035kg = Weight : 0.020kg
« Q'ty/Box : 300pcs - Q'ty/Box : 300pcs - Q'ty/Box : 200pcs « Q'ty/Box : 300pcs




TILES HOLDER

METAL

METAL HOLDER

« Weight :0.100kg
- Q'ty/Box : 60pcs

« Weight :0.071kg
- Q'ty/Box : 60pcs

PC-A | Base Lock Metal

PC-BN Pipe Clamp(Single Mount)

. o
.

i‘ﬁ'l

).

c « Weight :0.063kg « Weight :0.020kg
- Q'ty/Box : 150pcs - Q'ty/Box : 300pcs

PC-CN |Pipe CIamp{Ie Mount) PC-E |Pipe Clamp

_____iﬁr Ny
|

» Weight : 0.026kg « Weight :0.012kg
- Q'ty/Box : 200pcs - Q'ty/Box : 600pcs

¥
T ™
....

o
-
-

_______

S3WOSSIIY



TILES HOLDER

PLASTIC & STRUT
PLASTIC HOLDER

_ GAP-7  Plastic Joint GAP-8FN ' Horizontal Holder

» Weight :0.011kg
- Q'ty/Box : 450pcs

= Weight :0.005kg
- Q'ty/Box : 1200pcs

GAP-15 Sheet Holder

- Weight :0.003kg
« Q'ty/Box : 1500pcs

+ Weight :0.014kg
« Q'ty/Box : 400pcs

GAP-46 Plastic Joint

» Weight :0.013kg
- Q'ty/Box : 450pcs

STRUT
GAP-11  Taper Edge GAP-8 Horizontal Holder

a27 1.D27

15

14

230

» Weight : 0.002kg
+ Q'ty/Box : 2500pcs

» Weight :0.005kg
« Q'ty/Box : 1200pcs






